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20x13 43 7 75 34 29
25x13 44 7 75 43 29
25%20 45 7 7 43 34
30x13 47 65 85 49 29
30x20 49 7 85 49 34
30x25 50 7 85 49 43
40x13 51 55 95 59 29
40x20 52 55 9 59 34
40x 25 53 55 9 59 43
40%30 54 55 75 59 49
50% 20 55 45 10 68 34
50%x25 56 45 10 68 43
50%30 57 45 85 68 49
50x40 59 45 6b 63 59
60x20 62 4 125 &2 34
60x 25 63 4 125 &2 43
60x30 64 4 11 &2 49
60 x40 66 4 9 &2 59
60 x50 67 35 8 &2 63
) TEHABICOWTIEFERCETTEI DY £7,
ie B & % ook H 2 1% =
PN SCS13 1
+v ok SCS13 ?
ARk MEAitEsE EPDM 2 | FESEAAILFKM
e [EHEX T L 2§ 2
27 L AEERIERENE | % 2
\ RS = SAS 322
TLYaA vk EEWTY R 20~60]| 2 ;Ei
BIED | 20247TA1E | &R | BR | ER
At CK IV SER | 03H6A1R | ||
B 2 KR A

(MEZES  N-ETL RS20-60-2)




